Y4yebHuk ctp. 76, Ne308.

[TpoBepb, NpaBUNbLHO NN BbINOIHEHO
erneHne ¢ oCTaTKOM.

70537 : 54 = 1306 (ocT. 17)

33367 : 164 = 203 (OCT. 75)
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nenuTtenb 34, YyacTHoe 8050, ocTaTok 12;

nenunTenbs 46, YacTHoe 3080, ocTaTok 35.
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[1Ba oNbITHbLIX y4acTKka NPAMOYrornbHOW
doopMbl MMEIOT OAMHAKOBYIO MoLlab.
LLiInpmnHa nepBoro yyacTtka 60 M, a LULMPUHA
BTOpOro 80 M. Hangmn onnHy nepBoro
yyacTKa, eCcrnv U3BeCTHO, YTO AJIMHA
BTOPOro y4vacTtka 150 m.

Cpoenan 4yepTex 1 peLumn 3agayy.



1) @ 2) 150 M

=7 80 M
S: =S, =7
d: = 60 M
a:=80 M
b.=150 M

1=?



Si=7 60 m

SZ=? 80’\/\

S1: =S5, =7

3. =60 Mm 1) S:=a:* b
2>=80m | 150 * 80 = 12000 (m?)- nnowazp Il yyacT.
b.= 150 m ) 2)bi1=S:i:as

D=7 12000 : 60 = 200 (m)- annHa | yyacTka.



OTBeT: ANMHa nepBoro y4acTtka 200 M .



